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num_realize=4;
num_values=100;

arlparam=0.4;
errsigma=0.5;
errmean=0;

for k=1:num_realize

x (1) =normrnd (errmean,errsigma) ;
for i=1:(num_values-1)

x(i+1)=arlparam*x(i)+normrnd (errmean,errsigma);

end
for i=1:num_values
y(k,i)=x(1i);
end
end
figure
for i=1:4

subplot(2,2,1)
plot(y(i,:))
end

num_realize=4;
num_values=100;

arlparam=-0.3;
errsigma=0.2;
errmean=0;

for k=1:num_realize

x(1)=normrnd (errmean,errsigma) ;
for i=1:(num_values-1)

x(i+1)=arlparam*x (i) +normrnd (errmean,errsigma) ;
end
for i=1:num_values
y(k,i)=x(1);
end
end
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figure

for

end

for

i=1:4
subplot(2,2,1)
plot(y(i,:))

i=1:num_values

det1(i)=20;

det2(i)=0.02%1i;
det3(i)=cos(i*2%3.1412/20);
det4 (i)=0.1%exp((i-15)/25);

end

for i=1:num_values
serl1(i) = y(1,i) + det1(i);
ser2(i) = y(1,i) + det2(i);
ser3(i) = y(1,i) + det3(i);
serd (i) = y(1,i) + det4(i);

end

figure

subplot (221)
plot(serl)
subplot (222)
plot(ser2)
subplot (223)
plot (ser3)
subplot (224)
plot(ser4)




